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VIB: Vibration IsolationVIB: Vibration Isolation
Number of participants: 19Number of participants: 19

1.1. 6 correct answers6 correct answers
out of 16 respondentsout of 16 respondents

Reducing the forceReducing the force
transmitted to an objecttransmitted to an object
using a spring, mass andusing a spring, mass and
dashpot systemdashpot system

7 votes7 votes

✓✓

Reducing the forceReducing the force
transmitted to an object bytransmitted to an object by
using a spring and dashpotusing a spring and dashpot

6 votes6 votes

Reducing the motion of anReducing the motion of an
object using a spring and aobject using a spring and a
dashpotdashpot

3 votes3 votes

The problem of direct vibration isolation consistsThe problem of direct vibration isolation consists
inin

44%44%

38%38%

19%19%
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2.2. 15 respondents15 respondentsCite a few examples of direct isolation problemsCite a few examples of direct isolation problems
in everyday lifein everyday life

CarsCars

Springs of cars, in tall buildingsSprings of cars, in tall buildings

Powerplant machineryPowerplant machinery

Washing machine, cardio machineWashing machine, cardio machine

Table PadsTable Pads

TreadmillTreadmill

Washing machine, engine vibration isolationWashing machine, engine vibration isolation

Engine of carEngine of car

Washing machineWashing machine

Washing machine, car engineWashing machine, car engine

Camera stabilizationCamera stabilization

MicroscopeMicroscope

Washing machine vibrationWashing machine vibration

Car engineCar engine

Washing machineWashing machine
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3.3. 8 correct answers8 correct answers
out of 12 respondentsout of 12 respondents

a mass, spring, dashpota mass, spring, dashpot
system representing one ofsystem representing one of
the modes of the object tothe modes of the object to
be isolatedbe isolated

2 votes2 votes

✓✓

a mass representing thea mass representing the
object, assumed to be rigid,object, assumed to be rigid,
a spring and a dashpota spring and a dashpot
representing the isolationrepresenting the isolation
systemsystem

8 votes8 votes

a mass-spring system whicha mass-spring system which
is a reduced model of theis a reduced model of the
object, and a damperobject, and a damper
representing the isolationrepresenting the isolation
systemsystem

2 votes2 votes

4.4. 9 correct answers9 correct answers
out of 14 respondentsout of 14 respondents

✓✓

the force transmitted by thethe force transmitted by the
object vibration is lowerobject vibration is lower
than the force applied to itthan the force applied to it

9 votes9 votes

the force transmitted by thethe force transmitted by the
object vibration is higherobject vibration is higher
than the force applied to itthan the force applied to it

4 votes4 votes

the force transmitted by thethe force transmitted by the
object vibration is equal toobject vibration is equal to
the force applied to itthe force applied to it

1 vote1 vote

A simplified SDOF system can be considered toA simplified SDOF system can be considered to
design an isolation system, it consists indesign an isolation system, it consists in

17%17%

67%67%

17%17%

For the direct isolation problem, the isolationFor the direct isolation problem, the isolation
domain is the range of frequencies for whichdomain is the range of frequencies for which

64%64%

29%29%

7%7%
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5.5. 12 correct answers12 correct answers
out of 13 respondentsout of 13 respondents

the natural frequency of thethe natural frequency of the
mass-spring systemmass-spring system 0 votes0 votes

✓✓

sqrt(2) times the naturalsqrt(2) times the natural
frequency of the mass-frequency of the mass-
spring systemspring system

12 votes12 votes

2 times the natural2 times the natural
frequency of the mass-frequency of the mass-
spring systemspring system

1 vote1 vote

6.6. 13 correct answers13 correct answers
out of 13 respondentsout of 13 respondents

a good thinga good thing 0 votes0 votes

a negative thinga negative thing 0 votes0 votes

✓✓

it depends on the frequencyit depends on the frequency
of excitation and the naturalof excitation and the natural
frequency of the isolationfrequency of the isolation
systemsystem

13 votes13 votes

The frequency limit between the isolation domainThe frequency limit between the isolation domain
and the amplification domain isand the amplification domain is

0%0%

92%92%

8%8%

In an isolation system, damping isIn an isolation system, damping is

0%0%

0%0%

100%100%
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7.7. 7 correct answers7 correct answers
out of 12 respondentsout of 12 respondents

✓✓

A frequency band in whichA frequency band in which
the sensitive equipmentthe sensitive equipment
vibrates less than thevibrates less than the
structure to which it isstructure to which it is
attachedattached

7 votes7 votes

The domain in the systemThe domain in the system
where the vibration iswhere the vibration is
reducedreduced

2 votes2 votes

The domain for whichThe domain for which
thermal insulation is notthermal insulation is not
necessarynecessary

1 vote1 vote

A frequency band in whichA frequency band in which
the the force transmitted tothe the force transmitted to
the environment is reducedthe environment is reduced

2 votes2 votes

For the inverse vibration isolation problem, theFor the inverse vibration isolation problem, the
isolation domain corresponds toisolation domain corresponds to

58%58%

17%17%

8%8%

17%17%
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8.8. 13 respondents13 respondentsCite a few examples of inverse vibration isolationCite a few examples of inverse vibration isolation
problems in everyday lifeproblems in everyday life

Microscope,Microscope,

Protect artProtect art

Microscope, suspenssion carMicroscope, suspenssion car

Cameras in dronesCameras in drones

Drone cameraDrone camera

MicroscopeMicroscope

Camera in drone, suspension system of cars, microscope tableCamera in drone, suspension system of cars, microscope table

MicroscopeMicroscope

MicroscopeMicroscope

EarthquakeEarthquake

Camera stabilizationCamera stabilization

CarsCars

MicroscopeMicroscope
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9.9. 0 correct answer0 correct answer
out of 0 respondentout of 0 respondent

correspond to the frequencycorrespond to the frequency
range of excitationrange of excitation 0 votes0 votes

be much higher than thebe much higher than the
frequency of excitationfrequency of excitation 0 votes0 votes

✓✓
be much lower than thebe much lower than the
frequency of excitationfrequency of excitation 0 votes0 votes

10.10. 0 correct answer0 correct answer
out of 6 respondentsout of 6 respondents

✓✓

decrease the stiffness of thedecrease the stiffness of the
spring in the isolationspring in the isolation
systemsystem

6 votes6 votes

✓✓
increase the mass of theincrease the mass of the
system to isolatesystem to isolate 0 votes0 votes

increase the damping in theincrease the damping in the
isolation systemisolation system 0 votes0 votes

11.11. 14 correct answers14 correct answers
out of 17 respondentsout of 17 respondents

✓✓
a direct vibration isolationa direct vibration isolation
problemproblem 14 votes14 votes

an inverse vibration isolationan inverse vibration isolation
problemproblem 3 votes3 votes

12.12. 12 correct answers12 correct answers
out of 13 respondentsout of 13 respondents

a direct vibration isolationa direct vibration isolation
problemproblem 1 vote1 vote

✓✓
an inverse vibration isolationan inverse vibration isolation
problemproblem 12 votes12 votes

To achieve isolation, the natural frequency of theTo achieve isolation, the natural frequency of the
mass-spring system shouldmass-spring system should

0%0%

0%0%

0%0%

In order to increase the isolation domain, one canIn order to increase the isolation domain, one can

100%100%

0%0%

0%0%

The problem of transmission of vibrations from aThe problem of transmission of vibrations from a
tram to the surroundings should be treated astram to the surroundings should be treated as

82%82%

18%18%

The problem of transmission of vibrations from aThe problem of transmission of vibrations from a
space launcher to a payload should be treated asspace launcher to a payload should be treated as

8%8%

92%92%
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